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QUESTION 1

Which two queries execute successfully?

PRODUCTS:

PROD_ID CHAR(2)
PROD_NAME  CHAR(4)
EXP_DATE TIMESTAMP (6)
NEW PRODUCTS:

PROD_ID CHAR(4)
PROD_NAME  VARCHAR2(10)
EXP_DATE DATE

A. SELECT prod_id, exp_date FROM products UNION ALL SELECT prod_id, NULL FROM new_products;

B. SELECT prod_id, prod_name FROM products INTERSECT SELECT 100, prod_name FROM newproducts;
C. SELECT * FROM products UNION SELECT * FROM new_products;

D. SELECT k FROM products MINUS SELECT prod_id FROM new_products;

E. SELECT prod_id FROM products UNION ALL SELECT prod_id, prod_name FROM new_products;

Correct Answer: AC

QUESTION 2

View the exhibit and examine the structure of the PROMOTIONS table.
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Table PROMOTIONS

Name Null? Type
PROMO_NAME NOT NULL VARCHAR2(30)
PROMO_SUBCATEGORY NOT NULL VARCHAR2(30)
PROMO_SUBCATEGORY _ID NOT NULL NUMBER
PROMO_CATEGORY NOT NULL VARCHAR2(30)
PROMO_CATEGORY_ID NOT NULL NUMBER
PROMO_COST NOT NULL NUMBER(10,2)
PROMO_BEGIN_DATE NOT NULL DATE
PROMO_END DATE NOT NULL DATE

You have to generate a report that displays the promo name and start date for all promos that started after the last
promo in the INTERNET\\' category.

Which query would give you the required output?

A. SELECT promo_name, promo_begin_date FROM promotions WHERE promo_begin_date> ALL (SELECT MAX
(promo_begin_date) FROM promotions) AND promo_category="INTERNET\\';

B. SELECT promo_name, promo_begin_date FROM promotions WHERE promo_begin_date IN (SELECT
promo_begin_date FROM promotions WHERE promo_category= "INTERNET\\");

C. SELECT promo_name, promo_begin_date FROM promotions WHERE promo_begin_date > ALL (SELECT
promo_begin_date FROM promotions WHERE promo_category = INTERNET\\");

D. SELECT promo_name, promo_begin_date FROM promotions WHERE promo_begin_date> ANY (SELECT
promo_begin_date FROM promotions WHERE promo_category= "INTERNET\\");

Correct Answer: C

QUESTION 3

Examine the structure of the ORDERS table: (Choose the best answer.)
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NAME NULL TYPE
ORDER_ID NOT NULL NUMBER (12)
ORDER_DATE NOT NULL TIMESTAMP(6)
CUSTOMERS_ID NOT NULL NUMBER(6)
ORDER_STATUS NUMBER(2)
ORDER_TOTAL NUMBER(S, 2)

You want to find the total value of all the orders for each year and issue this command:
SQL> SELECT TO_CHAR(order_date \\'rr\\'), SUM(order_total) FROM orders
GROUP BY TO_CHAR(order_date, \\'yyyy\\");

Which statement is true regarding the result?

A. It executes successfully but does not give the correct output.

B. It executes successfully and gives the correct output.

C. It returns an error because the TO_CHAR function is not valid.

D. It return an error because the datatype conversion in the SELECT list does not match the data type conversion in the
GROUP BY clause.

Correct Answer: D

QUESTION 4
Which set of commands will prompt only once for the name of the table to use in the query?

A. PROMPT Enter table name andx SELECT employee_id FROM andx WHERE last_name = ‘King

Correct Answer: B

QUESTION 5

Which three are key components of an Entity Relationship Model?
A. atable

B. an attribute

C. a unique identifier

D. an activity
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E. a relationship
F. an entity

Correct Answer: BEF
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